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bl (25 &2

SH-EH . C(BH) - NRAY - BES 0ff &+ o4 )= e bRz
=o' 14,543,204 2,145,333 2,397,961
= 8,747,506 7,371,149 1,376,357
| 265,600 265,600 0
= 59,984 559,984 A500,000
= 1,334,531 1,083,456 251,075
2 4,135,673 2,865, 144 1,270,529
SN2 AAYI (FOMEXAD) (IIEHIIEH 29,804 31,380 A1,576
Jl= 2| 25,604 27,180 A1,576
2 25,604 27,180 A1,576
201 Yer2 ) 16,004 17,580 A1,576
01 At 14,323 15,726 A1,408
OYgtagH (0 A=) 1,110 12,156 A1,046
0.ARID| U =SAEE 9,412,000 9,412 10,458 A1,046
SEETICIE-ED 3,213,000 3,213 3,570 A357
02 B2 1,681 1,854 A1T73
OBZ22 L MA (AR 1,561 1,734 A1T73
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P 2E 2ol L NR(MNE=X/2E) 329,423 865,573 ~536, 150
= 0 500,000 A500,000
= 1,100 1,100 0
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EHY 260, 756 796,906 £536, 150
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= 1,100 1,100 0
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= 18,435 17,235 1,200
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= 745,540 707,280 38,260
ASEA 2435 604,771 565,351 39,420
= 18,435 17,235 1,200
[= 19,178 19,218 A40
= 567,158 528,898 38,260
SEIZEHR L 2el 475,860 443,540 32,320
201 LBt Y] 137,860 149,540 A 11,680
02 222ZH| 137,860 149,540 A 11,680
OZ2222 % HAMsaEZ) 137,860 149,540 A 11,680
0.JI2E &I 99,360,000 99,360 108,000 A8,640
0.JI2E N ARE A2
34,960,000 34,960 38,000 A3,040
401 Al&HI LS 338,000 294,000 44,000
01 Al&H] 336,027 292,027 44,000
OADIX JIZEEX(10E —15 )
60,000,000 60,000 40,000 20,000
OsZJIRS A (405 — 60S)
72,000,000 72,000 48,000 24,000
A2 AEASHKK(2CIUIOIE) 36,471 33,471 3,000
= 15,235 15,235 0
[= 7,618 7,618 0
= 13,618 10,618 3,000
101 Q14 36,471 33,471 3,000
= 15,235 15,235 0
[ 7,618 7,618 0
= 13,618 10,618 3,000
10 JIZtH22NHSES 36,471 33,471 3,000
OX2=2A ZCIHIOIE 4THE&Z 3,000,000 3,000 0 3,000
A2 A AR 20,700 18,200 2,500
201 LEr2YH| 11,200 10,800 400
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OX2S A DFL2IX &2D17] 44& 400,000 400 0 400
301 LB AZ 4,500 2,000 2,500
10 HAIAHI 2 A2 4,500 2,000 2,500
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[ 10,600 11,000 A400
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= 2,240 1,400 840

307 212+01H 6,400 4,000 2,400
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= 59,984 59,984 0
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SA: EOMBTAD
Ha: 2O ZMBRSI(NSSX/ I ZLEBE)
CHol: DI OIH Z (==L
SA - SHR(3) - MBAY - BES Aol I o z2
= 26,455 0 26,455
2 21,045 0 21,045
ol Aol 47,500 0 47,500
2 26,455 0 26,455
2 21,045 0 21,045
101 32,400 0 32,400
= 22,680 0 22,680
= 9,720 0 9,720
10 32,400 0 32,400
M2 o0l AY|
1,800,0008 * 20! » 9= 32,400 0 32,400
= 22,680 0 22,680
2 9,720 0 9,720
401 12,000 0 12,000
= 3,000 0 3,000
= 9,000 0 9,000
01 Al 12,000 0 12,000
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3 3,000 0 3,000
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01 3,100 0 3,100
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01 2DEE2pa2 766,474 0 766,474
OASEXXY Haao 26,514,008 26,514 0 26,514
O EMESHT AT A 712,913,430 712,914 0 712,914
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